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1. fFafafee ar denst & @ &9 e A9 vor 3
THHAM § 3R T fum 31 fUd J1a BRI Three of the
following four numbers are alike in a certain way and one is
different. Pick the number that is different from the rest.
(a) 6248 (b) 7216
(c) 5156 (d) 7226
2. 39 fapea &1 9 ifve oA dwr aol-agg =@
TR Jafta g o yeR gurT aui-ugg usd quiagg @
GEIRCE
Select the option that is related to the third letter-cluster in the
same way as the second letter-cluster is related to the first
letter-cluster.
GIK:PRT::DFH:?
(a) LNP (b) MOQ
(c) RPN (d) JLN
3. 39 fawed &1 9u+ Fiforg oy dedt den st tor
Tafira 8 ford yaR gt Wen ugel Wen @ Wefta 7
Select the option that is related to the third number in the same
way as the second number is related to the first number.
55:11::125:7?
(a) 22 (b) 5
(c) 25 (d) 101

4. Fafafea 9r Wl ° 9 79 @ e voR 3 teauE
% 3R Wﬁ-l_?l' %I fiﬁmml Three of the following four
words are alike in a certain way and one is different. Pick the
odd word out.

(a) Pedld Football

(b) SRAPCSIA Basketball

(c) T §Td Cricket ball

(d) IfchErd Volleyball

5. Fafaf@e ar auviayg & @ &9 e fAfda vor @
THIAME & 3R TP T4 g1 FUT J1d FIIEI Three of the
following four letter-clusters are alike in a certain way and one is
different. Pick the odd one out.

(a) usQ (b) OMK

(c) IGE (d) vUT

6. FufafEa ar demsi # 4 &9 & fAfia yor |
m%\?ﬁ'\'@m%l A J19 BITCI Three of the

following numbers are alike in a certain way and one is different.
Pick the odd one out.

(a) 110 (b) 140

(c) 154 (d) 198

7. U W Ug & TIY TP J@ar 41 713 ¢, R e e A &
I Aoy &1 9u=1 BT A Y@ar &1 R B |

A series is given, with one word missing. Choose the correct
alternative from the given ones that will complete the series.

cry, dome, super, random, ?

(a) reflex (b) done

(c) formula (d) classify

8. U gu Ug & UIY T e I ¥ ¢, Ru mu fiweui 4 @
39 Aoy &1 9u=1 BT I yaar &) R Hm|

A series is given, with one term missing. Choose the correct
alternative from the given ones that will complete the series.
OXXXXX, XXXXO, OXXX, XXO, OX, ?

(a) X (b) XO

(c) 0O (d) O

9. U W UG & 1Y TP §@ar 31 T8 8, Ru e e § @
39 faeu &1 91 ST A gaar & R HAm|

A series is given, with one number missing. Choose the correct
alternative from the given ones that will complete the series.
1.5,9/4,3,?,4.5,21/4

(a) 15/4 (b) 7/2

(c) 8 (d) 9 _

10. IH WHE BT 997 Hiforg Forad dent 34t ver d&fa
2 oy voR fRufifad aqg &t Semi €1

Select the set in which the numbers are related in the same way
as are the numbers of the following set.

(6,14, 31)
(a) (7,23,49)  (b) (3,7,17)
(c) (4,12,21)  (d) (4, 10,23)

11. 4 91T BT HR 30, 20, 50 3R 90 fFuT 81 R A FH= AT
34 diq9 & ot "aeH &1 $a UR fearma |, 8 gt
Hepdl 3R FuIo § $ad TP IR TP S199 ST YT fhar o
W%? The weights of 4 boxes are 30, 20, 50 and 90 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes? (In a combination a box can
be used only once)

(a) 200 (b) 190

(c) 140 (d) 160

12. RU A wIgl © W, 39 Vg &1 Iu Bifore o fqg M
XTeg & JUIT BT YA HIP TE] S14T o Jobal g |

From the given words, select the word which cannot be formed
using the letters of the given word.

SCALDING
(a) DICES  (b) SNAIL
(c) ALIGN  (d) CLANG

13. IfE OUTLINE Bt QWVNKPG F U N FHedx f[Par ST g,
dt MAN & fd U H Fedes faT STIRRTT? If OUTLINE is coded
as QWVNKPG, then how will MAN be coded as?

(a) FvQ (b) RNE

(c) oCP (d) RKX

14. U @ o uToT &, '+, 'x B ST S, -, '+ B SRATATE,
', '+ I gRItar 8 3R '+, - B gfar 31 FufafEa uy &1
I i)

In a certain code language, '+' represents 'x', '-' represents '+', 'x'
represents '=' and '+’ represents '-'. What is the answer to the
following question?

50+3+125x5-25="?

(a) 31 (b) 17

(c) 150 (d) 55

15. IS 26#14=80; 5#3=16; 645=22 §; dY 14#5=? BT AT JId
PICII If 26#14=80; 543=16; 6#5=22; then what is the value of
14#5=?

(a) 17 (b) 38

(c) 4 (d) 9

16. U T fapedl A & qua T=n Ja P |

Select the missing number from the given responses.
117 | 28 [145
35| 7 |11
211 11 |222

(@) 39 (b) 76
(c) 146  (d) 333

17. A 3R B WA fig A = T &1 A <féor § s fpait
Argfra garar 8, fibY a8 31 ang 3R gaet @ 8T 5 e
grsfha Tadl 81 B, SR ¥ 3 fHH Arsfea aardar g, ke
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Ui F 3R gaar ? 3R 5 fH wsfea gam 8, fw a5
¢ 3R g3a1 ¢ 3N 4 et wgfra aamar 81 A F Wau A 8
WT%? A and B start from the same point. A cycles 8 km South,
then turns to her right and cycles 5 km. B cycles 3 km North, then
turns West and cycles 5 km,then turns to her left and cycles 4
km. Where is B with respect to A now?

(a) 7 fFHI SR 7 km North

(b) 7 fob it G&TOT 7 km South

(c) 15 fHI IR 15 km North

(d) 15 fob et AT 15 km South

18. WY H QI HY= & a1¢ a1 b 1 3R 1 RE ML B IFIa gt
3T g1 W W Ut feT T HYF B I AT § 3R
3P g8 99 BT & P few e af & | &= 91, afie +g
©, T HeIgd 0% &

YT : TT A1 IeTEl IR Ufaas S S anfge?

T 1 : Te1, 9 59 el @ 3MRA g

TH 18T, e A PSR T

In the question a statement is given, followed by two arguments,
I and Il. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have
to decide which of the given arguments, if any, is a strong
argument.

Statement :

Should Chinese crackers be banned?

Argument

I : No, China will be hurt by this decision.

Argument

Il : Yes, crackers Kkill insects.

(a) qﬁmﬁlm% if only argument | is strong.

(b) WW%IIW%I if only argument Il is strong.

(c) af | 3R Ilfﬁ:ﬁW%I if both I and Il are strong.

(d) q%:f?‘ﬁl 33'\"_‘[%1 Il W%I if neither I nor Il is strong

19. WY APHfd H fo91 43 ¥4 & MUK WR IR Npfa
FrafafEa % @ o1 a1 e 98 a9 o aedr g2

Which of the following cube in the answer figure cannot be
made based on the unfolded cube in the question figure?

O
Yo o[ X
®

.
)

(a) : (b) (c) (d)

20. Fafafaa snefa d, vt wmitieel &1 ufaffia swar
2, By wifeal o1 wfafAfira o 8, 39 WReT fasus)
o1 yfaffia ewar @ 9ur smya afdenst &1 wlaffia
HdT 8| TUN BT B TT Y Tt T faugt &1 wfaffire
HXA1 o A A Afgen § o 7 i 1w 72

In the following figure, square represents pharmacists, Triangle
represents Dancers, circle represents Gynaecologists and
rectangle represents women. Which set of letters represents
Gynaecologists who are neither women nor Dancers ?

(a) F,B,H (b) B,D,H
(c) D,EA (d) CH

Y IR i e 3npfal | f3T wreeu &t T wett?
Which answer figure will complete the pattern in the question
figure?

/

(a) (c)
22. ﬁﬁwawﬁﬁﬁﬁwawﬁrmmaﬁﬁq
o wy erepfar fsdt/ a2

From the given figure answer figures, select the one in which the
question figure is hidden/embedded.

@/ VL ) EYZ SR Ny e

23. mﬁﬁ&wﬁ%mwma?gﬁaﬁm
PR U9 a1 wrar 8, R &1 Wiad W f$T IW npfa
S faams &

A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how it
will appear when opened

W,f u

(a) (b) HOC (c)\ e (X
24. nﬁmmmwwa&wwm% a‘rﬁaﬁ@rﬁq@ﬁ
SR 31pia, §1 715 Srrpfal 1 wel whafer gt

If a mirror is placed on the line MN, then which of the answer
figures is the fight image of the given figure?
]

~ N
N

(a) (b) = — (c) (d)

{ X))
NN
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25. 39 fAPew &1 97 P St TR I § W W=
Heiftra 3 o TR geRT WTeg Ugd Xeg A Wafta g
Select the option that is related to the third word in the same
way as the second word is related to the first word.
Swim : Water :: Fly : ?
(a) Bird (b) Air
(c) Wings (d) Plane
AT IR FrelieN fFF T Tue F Rar & A2
Aryabhatta and Kalidasa were in the court of which Gupta
Emperor?
(a) PHRIL | Kumara Gupta |
I W 1l Chandra Gupta I
(c) HH?‘ICIT‘T Samudra Gupta
(d) W Skanda Gupta
27. GUY 9% 919 A f5a 9 ¥ wivas saie $t wITGT B
d}? Subhas Chandra Bose had founded ‘Forward Bloc’ in the
year?
(a) 1939 35T 1939 A.D. (b) 1937 ST 1937 A.D.
(c) 1938 & 1938 A.D. (d) 1936 ST 1936 A.D.
28. "HAlgy" AYRUN & URITYPH DI 82 Who is the
founder of the concept “Sarvodaya”?
(a) fa=IHT YT Vinobha Bhave
(b) 'J:IE'IF:ITTIT??[ Mahatma Gandhi
(c) STT YDIRIARIIU Jai Prakash Narayan
(d) F. Gﬁﬂ'&’l’\ﬁw K G Mushroowala
20. ISR & T TR IA GRT ‘SHYRHATES'
o forar mar i Amuktamalyada’ written by
Krishnadeva Raya, the ruler of Vijayanagar, was in
(a) W Sanskrit  (b) ®AS Kannada
(c) af:[‘:[ Telugu d) afEd Tamil
30. ﬁ'ﬂ%@ﬁﬁﬁ?ﬁqmuﬂ?ﬁmiﬁmﬁ%? Which one of
the following is a temperate desert?
(a) 3RF IR Arabian Desert
(b) 3(CTHTHT IR Atacama Desert
(c) PTATGRI YA Kalahari Desert
(d) TIAMaT XFRAM Patagonian Desert
31. fRufafEd § ¥ ®19 e I AEMETRIY YRT 82 Which
one of the following is a warm ocean current?
(a) Uﬁ&m YIRT East Australian current
(b) iy sﬁéﬁwr:f YRT West Australian current
(c) WW Benguela current
(d) U= YT Peru current
32. %mmaﬁmﬂq% The biggest island of the

Indian Ocean is

(a) TG Maldives

(b) HSNTRHR Madagascar

(c) &gy Lakshadweep

(d) gHTAT Sumatra

33. 9% ° WOR &I ©U A & HRUT g 8l
The tides in the sea are primarily due to

(a) q%ﬁ%?ﬂqqsﬁamn‘q’ the atmospheric effect of the Earth

(b) qzaﬁ W Yh & Wﬁfm UHIG the gravitational effect of

Venus on the Earth

(c) q%a“r R T & Wﬁfm UYHIT the gravitational effect of

the mars on the Earth

(d) q%a“T R IGAT & {lb(dIGbNCUI UHId the gravitational effect of
the Moon on the Earth

34. Wﬁqm gfvume 32 Algal bloom results from -
(a) TS aIET Global warming

(b) <IdUT Salination

(c) W Eutrophication

(d) g e Biomagnification

35. fmfafaa & @ o1 a1 g o, Aurery, AT ok
SRy & 3remar "rggfud & ATHE O &aFA & U
* ﬁﬂ! faQy yray= %En %? In which of the following article
makes special provisions for the administration of certain areas
called "Scheduled areas" in other than Assam, Meghalaya,
Tripura and Mizoram.

(a) 3T 2438 Art 2438

(b) SITEC 244 Art 244

(c) 3fTG 245 Art 245

(d) 3TIWG 334 Art 334

36. IAYU" BT m e F|T %? What is the literal
meaning of 'Certiorari'?

(a) gH GHSITa?f%’ We command

(b) IRR YRUIHIAT To have the body of

(c) HATHRAT To forbid

(d) SHTIOrd o ST (AM) Hferd fadm ST To be certified (or) to
be informed

37. Hifgw iy &1 gy G%TRI 82 The major objective of
monetary policy is to?

(a) MMPR P PR IS H q@ DT Increase government's tax
revenue

(b) meﬁmm Revamp the Public
Distribution System

(c) Iea RRAT & e e fad™T &1 §@1ar &1 Promote
economic growth with price stability

(d) SrfoaRT & YSTR $I THI BT Weed out corruption in
the economy

38. mﬁlﬁf Ak R E %? Xeric condition refers to-

(a) PHTUHIT low temperature

(b) HH ST low humidity

(c) Rl ER high evaporation

(d) SIS dTHM extreme temperature

39. AT AR W faoell & g & fharde &1 arqum fea-n
a?ﬂ %? The temperature of the filament of lighted electric bulb
is generally:

(a) 100°C ¥ 500°C 100°C to 500°C

(b) 1000°C ﬁ 1500°C 1000°C to 1500°C

(c) 2000°C ¥ 2600°C 2000°C to 2600°C

(d) 4000°C ﬁ 5000°C 4000°C to 5000°C

40. ﬁaﬁr@aﬁﬁaﬁqmmgﬁﬁaﬂﬁ%? Which one of
the following pairs is not correctly matched?

(a) Qﬁv—\m W-:ﬁq Ascorbic acid - Lemon

(b) HAleei] - ATE Maltose - Malt

() Qﬁlm 3% - @I Acetic acid - Curd

(d) ITH® 3% - AT diel Formic acid - Red Ant

a1. 3@ F o ym & guie e grar @ it fnsht aafea it
TG BT 1 T BT 82

In which part of the eye lies the pigment that decides the colour
of the eyes of a person?

(a) PIAT Cornea (b) ﬁ?'\l%—&' Choroid
(c) 3MRI Iris  (d) féfz}wa?s“r Vitreous body
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42. ﬁm% P B areit %Iﬁ‘ﬁ%— The membrane covering the
lungsisa-

(a) WIYXT Pleura

(b) Pericardium

(c) IR Peritoneum

(d) TAIAfTTH Mesothelium
43. BT 79, o YRd & Ugd Pra+ uiteifed fAue &
¥ 7 forar 1ar @ 98 Fufafaa ¥ Q fPa o A fRya 82

Phayeng Village, which has been tagged as India's first carbon-
positive settlement, is located in which of the following states?
(a) EIUINE] Nagaland (b) Hﬁl’ﬂ? Manipur

(c) 3NTSRM odiha  (d) TASIRH Mioram

44. YR goY A it &9 & ¢ &I o & T 4§
e ﬁgaaﬁ?mw%? Who has been appointed as the new
head coach of the Indian men’s national hockey team?

(a) ‘;ﬂ%ﬂ'\ﬁ@’ Graham Reid

(b) UEN AN Dhanraj Pillay

(c) HTh T Mark Knowles

(d) 3fSild uTe R4g Ajit Pal Singh

45. 2019 YA HAY AR & 5 gunf=a fear mn 82

Who has been bestowed with the 2019 Ramon Magsaysay
Award?

(a) 3 T Arnab Goswami

(b) fHROT AT Kiran Bedi

(c) WW Pranab Mukheriji

(d) WW Ravish Kumar

46. BT Tt ® f5d 35T DI AT G YEUT ISP 2.0 H
UWWWW%’? Which state has been ranked first in the
recently released Composite Water Management Index 2.0?

(a) AU Madhya Pradesh

(b) 3 TS Andhra Pradesh

(c) TSRTd Gujarat

(d) 4T Goa

47. 39 ¢ BT 9 da15¢, o 2026 MaPprela Nefuew
Tdl P ASEH ﬁl'({ T T %? Name the country, which
has been chosen to host the 2026 Olympic Winter Games?

(a) @'q Europe (b) 3???[ Italy

(c) WY France (d) N Greece

48. Fufafea o @ 59 =g 9 ifd o & @A
Wﬁaﬁd’m Wﬁ)‘ﬂ?’ Which of the following state
has topped in NITI Aayog’s Health Index?

(a) IR UG Uttar Pradesh

(b) TSRTd Gujarat

(c) BT Kerala

(d) AfEEHTg Tamil Nadu

49. NDA TRHR B AHTRIG 1T 3R ARfHRIBROT & qdar
H’q q’ﬁ ?ﬁq %'? Who is the current Union Minister of Social
Justice and Empowerment in the NDA Government?

(a) Wsﬁﬁﬁrg Rao Inderjit Singh

(b) UTR g Thawar Chand Gehlot

(c) :ﬁ?{ﬁrg?ﬁm Narendra Singh Tomar

(d) A I Anant Geete

50. I &1 BT A1 a1, e g1a 8 °§ wigsdt § dig
P ¢ faf®® e (suem), 113 &1 wheo fear g1
Name the country, which has recently test fired submarine-
launched ballistic missile (SLBM), JL-3.

(a) HRd India (b) JUHY USA
(c) HH china (d) SITUTF Japan
51. 'qﬁ' 16 sin® + 63 cos® = 65 %, @ 64 cosecd PT HIF Td

aﬁﬁtml If 16 sin@ + 63 cos® = 65 then find the value of 64
cosecB ?

(a) 65 (b) 130
(c) 195 (d) 260
52.

Tt +y7 4y +1=0 8, 7 120 +y20 =13 AR 70 A0
Ifx* +y* +2y+1 = 0 then find the value of x*02! 4 y?020 =7

(@) 1 (b) O

(c) 2 (d) %

53. U 720 Ht A} ¢+, SBT TETS A g Wew™ &I IR
B |, 06 s e T U A<l 3 a1 ag g nfa @
TP TR TR $1 | aAdl g1 37 3t 7fa fpfl/eer o
ﬁﬁlﬂ'l A 720m long train takes 96 seconds more to cross a
platform twice its length than it takes to cross a pole at the same
speed. What is the speed of train in km/h ?

(a) 36 (b) 54

(c) 45.5 (d) 64

54. AB U g1 I Wil § GYUT PAT, A TR 9 @I TR ¥r g1
gfe 2 BAT=70° 3R 2 BAC=45°%, C, TR UH fig B, @t 2
ABC fFad TR %I AB is a chord to a circle and PAT is
tangent to the circle at A. If £ BAT = 70° and £ BAC = 45°, C being
a point on the circle, then £ ABC is equal to :

(a) 50° (b) 55°

(c) 60° (d) 65°

55. dieR 9 SR g a¥ & T Tehgfs <aTe 3T 3iav 28.35
¥. 1 9f e @R 5% e @, @t eI 9 FIRII The
difference between Cl for third year and second year is Rs 28.35.
If rate is 5% per annum, then find the sum ?

(a) 10,000%. Rs. 10,000

(b) 10,800 %. Rs. 10,800

(c) 10,600%. Rs. 10,600

(d) 10,400%. Rs. 10,400

56.

T tan15°=5- 24 & A tnd? ot 75° 4 cot 15 ka5 = & 19 79 )
Ftan 15¢=5- b then fnd the valueofant 5%, Cot 75+ ot 190750 =

(a) 23 (b) 100

(c) 98 (d) 25

57. AU a%g 20% & ATH U B B! 99T @ 3R B 3 25% &
H UR ¢ P 99aT g1 Tl ¢, 255 F. BT YA HAT B, a A
WWWWWI A sold a thing to B at 20% profit and B
sold it to C at 25% profit. If C paid Rs 255, find out the cost price
for A(in Rs)?

(a) 170 (b) 150

(c) 190 (d) 130

58. A, B, C 3N D # 9800 ¥. 3H UPR fAUTRIG 81 & fh A 3R
B, ¢ 3R D I & T T[T 31 URT UTa HRA AU B, CF
YT ¥ IR AT 3T YT HaT 8 YT ¢, D F YR BT AT
UTWT BT 8, ol A BT fGTHT 8-~ Divide Rs 9800 amongst A, B, C
and D so that A and B receives three times of the part of Cand D
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both and B gets 4 times the share of C and C gets times of D’s

part, then the share of A is :-

(a) 1270%. Rs1270 (b) 1370%. Rs1370

(c) 14703, Rs1470 (d) 1570%. Rs1570

59. 3Af¥d, 50,000 T. P! TP Pl 5% & TH W RS B!

AT 8 1 IR 2% B g1 U= 39 3if¥rd &) S=ar €, ot uRoma

W%? Amit sells a bike of Rs 50,000 to Neeraj at a profit of 5%.

Neeraj sells it to Amit at a loss of 2% then the result is

(a) T BT 8500 F. BT ATH Eﬂ?ﬂ %I Amit gets a profit of Rs

8500

(b) ST DI 8500 F. BB BT @ Amit gets a loss of Rs 8500

(c) 3T BV 1050 5. WWH@T‘H%I Amit gets a profit of Rs 1050

(d) H&Iﬁﬁ 1050°%. aﬁ%ﬁ@?ﬁ%l Amit gets a loss of Rs 1050

60. Wﬁf%‘d%?ﬁaﬁqﬁ?ﬁ (A,B,C,D,E F) &

frs' TPR & TS &1 9 I 3 Fq HutE A
Qggaﬁ TSI B g=ITdT 31 G BT T

a%’rI%nz aﬁ?ﬁaﬁr@aueﬁﬂ?maﬁm

g Rl Ut & Uy A T 3HfYF A 0 J FH ha &2

There are six types of android application of cab transport

companies (A, B, C, D, E, F) in a certain city. The bar graph shows

the number of cab taxis run by each of these cab companies.

Study the diagram and answer the following questions.
140

120
120
95
80

60

Number of taxls

40 15

A B C D E F
Company

Which taxi company has more taxis than A but less than D?

(a) B (b) C

(c) F (d) E

61. T fAf¥d 2ex # 9 ulkagd Huf~al (A, B, C, D, E, F)%‘T

ww%quqﬁ%ﬁmq%lmwsﬁ% f o
T AW DI AT 31 ARG BT AT

Fiforg ok Frafafaa ust & s difvmei

g 30 TRA HUH B DI BIS il & 3R HUT D P WY IS Il §

@ o & U ¢ A fpa) 3ifdiep i B

There are six types of android application of cab transport
companies (A, B, C, D, E, F) in a certain city. The bar graph shows
the number of cab taxis run by each of these cab companies.
Study the diagram and answer the following questions.

140

120

120

80

60

Number of taxls

40

20

A B C D E F
Company

If 30 taxis quit company B and joined company D then D will
have how many more taxis than C?

(a) 40 (b) 30

(c) 110 (d) 70

62. T fAf¥d g # &9 ukggd Huf~al (A, B, C, D, E, F) &
B UPR & Tglss URbRA g mwgq%mmrﬁiﬁﬁ

A YD GRT S B TSI B SATAT 1 W PT AT
Fiforg 3R FFafafaa vl & W difvrgl

TS A 3R € U G & 1Y S ST 8, l D b URI A 3R ¢ & IS
S IR S o1 | faait 31 SfRal (% o) givfe

There are six types of android application of cab transport
companies (A, B, C, D, E, F) in a certain city. The bar graph shows
the number of cab taxis run by each of these cab companies.
Study the diagram and answer the following questions.

140

120
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95
80

60

40 35

Number of taxls

20 10

A B C D E F
Company

Even if A and C decide to merge, still D will have how many more

taxis (in %) than the merged A and C entity?

(a) 15 (b) 20

(c) 10 (d) 25

63. TP A3 2ex # $9 uRaga ufaal (A, 8, C, D, E, F) &

ww%aggzqmﬁ%lwwsqhmﬁ
Pt TSI B! S=TAT 81 MW BT YT

Fiforg 3R FFafafaa vl & S il

Ife; YA i U 11 3Aa 100 ot am vt B aur afy

S B AT 3 ¥U U fopeht B, At 3 et iRt ufafemr Sem R

fobe &, e il 82

There are six types of android application of cab transport
companies (A, B, C, D, E, F) in a certain city. The bar graph shows
the number of cab taxis run by each of these cab companies.
Study the diagram and answer the following questions.

140

120

120

80

60

40

Number of taxls

20

A B C D E F
Company

If each taxi on an average runs 100 kms every day and if fuel cost

is Rs 3 per km, then all these taxis spend how much (in Rs.) on

fuel every day?

(a) 128000 (b) 108000

(c) 118000  (d) 98000

64. SMfY® f & epffa #31 & forg, RIfSureR

TR 3 TRAF e W 20% Te 3T 3 3 Awon A,

T 3@ P 39 T. €, 9 PRI [ewpal 31 APt # 32%

o1 g g3 8, omige! It Y= A g &1 ufawa g
| To attract more visitors, Zoo authority announces 20%

discount on every ticket which costs Rs39 for this reason, sale of

ticket increases by 32% find the percentage of increase in

number of visitors ?

(a) 60% (b) 65%

(c) 70% (d) 75%

65. TP GPIIGR Hd Yed W g8 S9dT 8 A 98 398 Uit

foremar 8 3R as% &1 ATy rfSfa Har 31 frgor & i &1
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FIGRIG] ATd IR A shopkeeper sells milk at cost price but
he mixes water in it and earns 45% profit. Find the percentage of
water in the mixture ?

(a) 25% (b) 27%

(c) 29% (d) 31%

66. Ufe TP quarg AYw &1 Mfera 20v3 I B, O 39T
é.l':rwr Gl '&ﬁ"’IT? If the attitude of an equilateral triangle is
20V3 cm, then its area would be : -

(a) 200v3 T 200v3 cm?

(b) 400v3) I IH 400v3 cm?

(c) 600v3 T IH 600v3 cm?

(d) 800v3 I JH 800v3 cm?

67. ABCD TP THE™ I AB = 40 I, cp=30 A7 3R
BC=AD & | af¢ THea TgS ABCD FT &% d 420 TL.AH &1
Ac 3R D Aol &) TvaTg T PIRITI ABCD is a trapezium.
AB = 40cm, CD=30cm and BC=AD. If area of trapezium ABCD is
420cm? find the length of diagonal AC & BD ?

(a) 37cm (b) 39cm

(c) 41cm (d) 43cm

68. GIUTSU A 3T B TP SH! ) HHRT: 56 30X 63 R A @1
W JHd &1 ST Ugul Y THHTY Wi Srar g1 Afpd 9
firTe uga ¢t ¢ft @RE | W Wl €, UIS 8 9 &7 fean
\_rl'laT%l B B YA | fhd= T IHT TM? Two pipes A and B
can full a cistern is 56 and 63 min respectively. Both pipes are
opened together. But 9 minutes before the cistern is completely
filled, pipe B is closed. How much time will the cistern take to be
filled ?

15,

(@ 29 17 mun b) SGl—f min
3115min 33—n1m

() 27 (d) 17

69. TP 9o oI Bear R are 8 It o 15 I g1 T
i, et wur et 3R $arE 8, 999 | Hier | 71
émﬂ?mmmﬁq@ﬂammaﬂﬁ'&nhe radius

and length of a cylinder are 8cm & 15cm. A cone, with same
radius and height, is cut from the cylinder. Find the total surface
area of the remaining part of cylinder?

(a) 1189.65 7. THT 1189.65cm?

(b) 1283.75 I.TH 1283.75 cm?

(c) 1382.85 T TH! 1382.85 cm?

(d) 1438.65 AIT.HHT 1438.65 cm?

70.

265,352 539 726 I f ol HEW G5 GEAT 57

Find the largest number among 2%%, 3%2,53% 72¢

52
65
(a) 2 (o) 3

71. 98 gAqH BT Id PIE ¥ 6, 7,8, 9, 3R 12 A
AU #3° WR, TP IR 4 AUHH 3ATT? Find the least
number which when divided by 6, 7, 8, 9, and 12, leaves
remainder 4 in each case ?

(a) 504 (b) 508
(c) 606 (d) 656
72.

ARG T L4243 4 ot 100° & S FUWT 3 0 0
Find the unit lacedige ofthe fllowing um 1°42%43°4 o H00°

(a)1 (b) 2
(c)0 (d)4
73.

qﬁ‘(x+f+ 1] (x+f—1)=2%:a‘rxzz+x'_i3=?

If(x_|_i_|_ 1) (x -|-i— 1) = 2, then x** t =7
(a1 ()1
(c)"*E (d) —V3

74. 0, A ABC P &9 $% g1 S £ BoC = 80° B, Y A ABC TT
ﬁ"'ﬂ? O is the orthocenter of A ABC. If « BOC = 80°, then A ABC
will be

(a) Qﬁmﬁﬁﬁf Acute angle triangle

(b) wa%mﬁua Right angle triangle

(c) Wmﬁﬁﬁf Obtuse angle triangle

(d) ﬁﬁ@ﬁﬁ None of these

75. UFTTH & oI 3TH Y1 T &A% d 59 I, AH, 59 7t aeit
IR 4 T3 A 31 S TFIH BT TS [T PITTI The area
of three adjacent surfaces of cuboid are 59cm?, 59cm? and 4 cm?2.
Then find the volume of this cuboid?

(a) 114 TT.HH 114 cm? (b) 108 T1.9HT 108 cm?

(c) 118 TT.JHY 118 cm? (d) 128 B9 128 cm?

76. In the sentence identify the segment which contains the
grammatical error.

The goggles that the boy wore were more attractive than the
other boys.

(a) The goggles that the boy

(b) wore were more attractive

(c) than the other boys.

(d) No error

77. In the sentence identify the segment which contains the
grammatical error.

| wish to heartily congratulate you for becoming the number one
in world boxing.

(a) I'wish to heartily congratulate

(b) you for becoming the

(c) number one in world boxing.

(d) No error

78. Select the most appropriate option to substitute the bold
segment in the given sentence. If there is no need to substitute
it, select No improvement.

On saw the motherland, the war prisoners started screeching.

(a) Onseeing (b) On having seen

(c) Onseen (d) No improvement

79. Select the most appropriate option to substitute the bold
segment in the given sentence. If there is no need to substitute
it, select No improvement.

Pankaj availed him of all the money to his credit.

(a) availed himselfto  (b) availed him

(c) availed himself of (d) No improvement

80. Select the most appropriate word to fill in the blank.
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He (Randeep Singh Surjewala) has to either give evidence in
support of his statements apologize publicly for his
comments.

(a) or (b) and

(c) but (d) so

81. Select the most appropriate word to fill in the blank.

He wenton a and was in no shape to drive.

(a) drunk  (b) senses

(c) binge (d) sober

82. (QUES: 82-86)

In the following passage some words have been deleted. Fill in
the blanks with the help of the alternatives given. Select the
most appropriate option for each blank.

In view of last year's HIN1 attack and prevailing

1 weather conditions, the health department
officials 2 that the virus will turn more active by
January end. In-charge, Integrated Disease 3

Programme (IDSP), Dr Shah, said, "Virus is still active, but not in
a major way. In coming months, it is likely to become more
active. Last year too, virus had claimed lives in January and
February. Therefore, we are 4 _as coming months
might 5 a challenge.

Select the most appropriate option for blank No.1.

(a) erratic (b) weird

(c) rumpus  (d) stable

83. Select the most appropriate option for blank No.2.

(a) expect (b) expects

(c) were expecting (d) are expecting

84. Select the most appropriate option for blank No.3.

(a) management (b) control

(c) surveillance (d) eradication

85. Select the most appropriate option for blank No.4.

(a) vigilant (b) opento

(c) nonchalant (d) impulsive

86. Select the most appropriate option for blank No.5

(a) show (b) pose

(c) throw (d) putup

87. Select the most appropriate meaning of the given idiom.
To jump ship

(a) Climbing the career ladder

(b) To jump to grab an opportunity

(c) To leave an organization

(d) To renounce great wealth

88. Select the most appropriate meaning of the given idiom.
To kick the bucket

(a) to get angry (b) to die

(c) tofallill (d) to get hurt

89. Select the word which means the same as the group of words
given.

To trip or momentarily lose one's balance; almost fall.

(a) to totter (b) to stammer

(c) tostumble (d) to blunder

90. Select the word which means the same as the group of
words given.

To invent (something) in order to deceive.

(a) toformulate  (b) to compose

(c) to project (d) to fabricate

91. Select the most appropriate synonym of the given word.
Boast

(a) Avoid (b) Change

(c) Rely (d) Pride

92. Select the most appropriate synonym of the given word.
Haste

(a) Burden (b) Expect

(c) Hurry (d) Sight

93. Select the most appropriate antonym of the given word.
Pejorative

(a) rude (b) complimentary

(c) derisive (d) cheeky

94. Select the most appropriate antonym of the given word.
Avid

(a) apathetic (b) desirous

(c) devoted (d) fanatical

95. Select the correctly spelt word.

(a) Obeisance (b) Obeisanse

(c) Obesance (d) Obesanse

96. Select the correctly spelt word.

(a) illicitly (b) illicitly

(c) illicitly (d) ilicitly

97. The questions below consist of a set of labelled sentences.
Out of the four options, given. Select the most logical order of
the sentences to form a coherent paragraph.

(P) owing allegiance to the Tamil Nadu-based progressive
women’s forum Manithi,

(Q)The Sabarimala temple in Kerala was on the boil once again
as an 11-member group of women below the age of 50,

(R) under police protection on Sunday.

(S) made an attempt to enter the hill shrine

(a) PRSQ (b) SRPQ

(c) QPSR (d) sQPR

98. The questions below consist of a set of labelled sentences.
Out of the four options, given. Select the most logical order of
the sentences to form a coherent paragraph.

(P)The perspective did not always carry the mark of the sacred,
but combined folklore and propaganda in interesting ways.
(Q)While iconography has a sense of tradition, modern society
looks at its icons differently.

(R)lcons have always been a part of memory and heritage,
carrying the seal of the sacred.

(S)Classical iconography was, in fact, the study of religious icons,
an exploration of symbols and their meaning.

(a) QRPS (b) SRPQ

(c) QPSR (d) RSQP

99. In the following questions, a sentence has been given in
Active/Passive Voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in
Passive/Active Voice.

His sudden arrival surprised everyone.

(a) everyone became surprised by his sudden arrival

(b) everybody was surprised by his sudden arrival.

(c) everyone was surprised at his sudden arrival.

(d) everyone were surprised at his sudden arrival.

100. In the following questions, a sentence has been given in
Direct/Indirect speech. Out of the four alternatives suggested,
select the one which best expresses the same sentence in
Indirect/Direct speech.

The doctor said to Mohan, “I hope you are better now.”

(a) The doctor told Mohan that he was better then.

(b) The doctor asked Mohan if he was better then.

(c) The doctor hoped that the Mohan was better then.

(d) none of these
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